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Factoring Methods Covered...

e Greatest Common Factor
e Simple Trinomials

e Hard Trinomials

* Perfect Square Trinomials
 Difference of Squares
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IL. Open Response: All work must be shown for each of the following in the space provided.

1. Determine the fourth term in the sequence defined by the recursive formula: [3]
t=4, t,=-5n"+2n-t,,)

_70

2. Determine the exact sum of each of the following finite series: [8]

(@) 7+19+31 443+ ..+799
N=67

2 2 2 2
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3. A super bouncy ball is fired 268 m into the air. The ball falls, rebounds to 80% of its original height, and then
falls to the ground again. This pattern of rebounding to 80% of the height from the previous bounce continues.
(2) How high will the ball bounce in the air after it bounces for the 15th t1me? e° . [3]

cAD) io% {, =211 @3 20!

(b) Determine the total distance travelled by the ball the instant it hats the ground for the 16th bounce? [4]
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4. The sixth and eleventh terms of an arithmetic sequence are 2 and — 23 | respectively. Determine the sum of the first
37 terms of this sequence. [6]
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5. One side of an equilateral triangle is 10 cm. The midpoints of its sides are joined to form an inscribed equilateral
triangle, and this process is continued, as shown in the diagram.

‘What is the sum of the perimeters of the triangles if this process s continued without end?
41
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6. For a geometric sequence, f, +1; =—24and t; +f3 =—5832 . Find the sum of the first 12 terms of this sequence. [4]
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al)ta(3)=y ¢ ~2 (39)
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